Aao— b Ba— k

A 4E == T -
gH128  (H) NIR =IGEE I RA A ROUGH  HOOP
=¥ BF
B mafkH i B ROUGH HoOP =7
B /KFE#HE BEPS B 2<KIEHE BB
B BoH B=R B k& Rit
B F[ BmEB C WFHR BB
Ad—h Ba—+
[€3=) (=t) [€3=) (=)
mERH - HOH e - IK % [
9:00 | % Z
] BIRBGOTMF—L 10 A = BIRAOTMF—L 10 ROUGH HOOP
RA - I F sk ROUGH HOOP - eX4ry
10:10( & 2
=y RMOEADOWF—L4 10 A Ak =] HMOREOEF—L  T0 Ao
7K AR - FIER HOH - i
11:20| % Z
=¥ MOEEOWF—L 10 EF R el HMOREOEF—L  T0 D CIER
B R B R
RF sk - ROUGH HOOP DCIER - A
13:10( = 5
=¥ MOHAOEF—L4 10 7K =¥ HMORADOEF—L  T0 i
14:20 _ ;
& T0 B T0
15:30 _ ;
&l T0 5 T0




